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(1) 3w (2)

(3) =TT=H (4) rgfeen
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(1) Hfd &R

(2) IFEEY TR
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(1) s, fafaear, ffcewar, fawamor

(2) YaTE, SHaEHar, Hiferwd, fawmo

(3) warg, fafaeran, Hifererar, weshrdar

(4) vare, fafgear, dfcrerar, foeamor
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(2) IO FioH

(3) ey

(4)

FdaR ot
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1-

2.

3.

4.

Which of the following teaching method is
not democratic ?

(1) Lecture method

(2) Group discussion

(3) Project method

(4) Participatory method

Which of the following is not related to the
affective domain of Bloom’s taxonomy of
educational objectives ?

(1) Receiving (2) Knowledge

(3) Organisation (4) Responding

Which of the following is not the level of
teaching ? '

(1) Memory level

(2) Understanding level

(3) Reflective level

(4) Motivation level

Learning is an association between
stimulus and

(1) Response (2) Animal

(3) Past experience (4) Behaviour

Which one of the following teaching
methods is based on progressive theory ?
(1) Questioning (2) Deductive
(3) Inductive (4) Problem solving

Which of the following set is correct about

the elements of creativity ?

(1) Frequency, Flexibility, Originality,
Elaboration

(2) Fluency, Feasibility, Originality,
Elaboration

(3) Fluency, Flexibility, Originality,
Collaboration

(4) Fluency, Flexibility, Originality,
Elaboration

At the age of 4 - 5 years, a male child
develops a more profound attachment
towards his mother as compared to his
father. What was the term coined by Freud
for this change of behaviour of child ?

(1) Oedipus complex

(2) Electra complex

(3) Super ego

(4) Narcissism
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(1) i T =1 fram

(2) form-wiafsm = fram

(3) wTevHar = fram

(4) wg-witisrn =1 gy

TR TR AT SR ST S et e o e
- TS T TR BT, T e 1 s
I I R 7

(1) e 7=

(2) TE-wfeds o

(3) &S st

(4) ©FTCHER FaTuT

TR Gt tear @

(1) o= (2) feremgfean

(3) feurfymn (4) feafen
‘AiZaeT STeren i e g SH-|1 3TN I9gFR
TR GFATR ?

(1) Hada 39w

(2) S=aElE urggEat

(3) af g

(4) T I

fEidsR-aTeE aa T ?

(1) forra o ArETeHe: iR R |

(2) Then o= asa @ AR |

(3) i SraeR giEd 6 T TR © |
(4) g afFme |

&7 fad 3 arerss i fafire dvgar aun fafire g
T FEd &

(1) tfrema (2) ®=

(3) TH (4)
wﬁgﬁrﬁwmmﬁm%mﬁmm
£ forg wraeen @ e Jadt 8 7

(1) .ﬁﬁ?&maﬁ@ﬂ

(2) i e uitiabind

(3) Hienfier HsRaTeHS STareT

(4) @ wiwaTE HaE1

S safie % 11 Rrgia & waifer g € 7
(1) Fest (2) R
(3) FaE (4) 3T

Paper — 2/B

10.

11.

12.

13.

14,

15.

Which one of the following is not included in
the Thorndike’s secondary laws of learning ?
(1) Law of partial activity

(2) Law of action-reaction

(3) Law of analogy

(4) Law of multiple response

If a person is getting help from his previous
experiences of driving scooter during the
learning of car driving, what type of transfer
of learning is depicted in this example ?
(1) Vertical transfer

(2) Bilateral transfer

(3) Horizontal transfer

- (4) Positive transfer

Disability related with communication is
(1) Dyslexia (2)
(3) Dysphasia

Dyscalculia

(4) Dysgraphia
Which approach is suitable for the education
of ‘Mentally Retarded’ children ?

(1) Enrichment approach

(2) High level curriculum

(3) Individualized instructions

(4) Acceleration approach

Which of the following statement is not
correct ?

(1) Dcvelopmerif is a quantitative process.

(2) Education is a goal oriented process.

(3) Learning is a process of behavioural
change.

(4) Growth is a biological process.

Child’s specific ability and specific potentiality
in particular field is known as

(1) Aptitude (2) Interest

(3) Value (4) Motivation
Iconic stage of Bruner is similar to which
stage of Piaget’s cognitive development ?
(1) Concrete-operational stage

(2) Sensory-motor stage

(3) Formal operational stage

(4) Pre-operational stage

Which one is not related with trait theory
of personality ?
(1) Cattell

(3) Freud

(2) Eysenck
(4) Allport

[ P'ROL
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(1) fo=
(2) TR WHRE iy

(3) &

(4) s

i sm-mww a7

(1) R 2) ==
(3) 3=+ (4) i

A, T v Y B et 7
(1) =X (2) WHREH
(3) &= (4) fafe

R A - T FRuad @i e
(1) & AYaT 7 ST e T h T qGHI

(2) T & Haceiierar faenfia s

(3) W IR H ScaTeaHish aiihl w1 YA
(4) W1 <l SicaTEd e

7 8§ -1 safaica 919 o va dehe R ¢
(1) Treior AreHt

(2) e

(3) TETHR

(4) W STTETT G

YT T GHTYH i 98 aen ol safa
STET YA T A T T, I8 FEd

(1) warA (2) S

(3) A (4) ITgaTEA

“Srehi S aTelt W i T B TS ©

(1) e&ftmm (2) o fomma

(3) i fagmA (4) wwH

“Cr & @ Forg weA ER OIS fa=i ) weiieeh

T @ @ STATT foR T w ® 7

(2) 7& frc it i & e e ST EeRa & 1
(4) WAL

24, uem-fogud

(1) sradofraa e
(2) wwraEmed!

(3) Heuich e
(4) aTefae e
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(A

Which one of the following is not an
obstacle in problem solving ?

(1) Anxiety

(2) Negative mental set

(3) Insight

(4) Frustration

Which one of the following is an emotion ?
(I) Amusement (2) Attention

(3) Stimulus (4) Memory

Who is basically linked with ‘FIACS’ ?
(1) Flander (2) Morrison

(3) Herbert (4) Lippitt

Which of the following statement is not

correct regarding ‘Questioning skill’ ?

(1) Increasing the number of questions
with yes or no

(2) Develop sensitivity towards listening

(3) Using encouraging methods while
questioning

(4) Encourage questioning

Which of the following is projective
technique of personality measurement ?
(1) Rating scale

(2) Observation

(3) Interview

(4) Thematic Apperception test

The stage of creative problem solving in
which an individual do not give attention
to irrelevant information is known as

(1) Humination (2)
(3) Preparation

Incubation
(4) Translation

The smallest unit of ‘Spoken language’ is
(1) Phoneme (2) Syntax
(3) Semantics (4) Morpheme

From ‘Which of the following questions’
creative thinking can be best predicted ?
(1) Can you tell its answer ?

(2) What can be different ways to solve it ?
(3) Who can answer it ?

(4) Tell the right answer.

Micro-teaching is

(1) Scaled down teaching
(2) Effective teaching

(3) Evaluation teaching
(4) Real teaching
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25. T A T e B @ g A |

T - A weh - B
a. ®d 1. amaweEa g
b. RN 1. e v R
c. WiIs 1. wA-faveo Rrgr
d. = V. WoiR-3aseH R

a b c d
1) v 1 1 I
@ v I 1 I
@ 1 m m IV
@ v 1 m I

26. Tmfafea § ¥ SW-T il e = frgm
TER?
(1) ufsFa s =1 fasr
(2) YR &1 R
(3) onamE = fagr
(4) BR-SR TG w g
27. oHeEH % IeH-1fR B (T8 -3, <)
3 e 3 wizen § 7 HEel 99§ 7
(1) ARnE
(2) SETF
(3) ToRa S aFER
(4) AR
28. f=fufad 3 @ fFd yR & Aftnm = 3 3 At
sferm Erarfaeh # waifts e A @ g ?
(1) dea At
(2) FEen At
(3) W wfam
(4) Tnfezsh aferm

09, e 3 SN ATETS # IAR-=G1E IETEWI ¢

(1) Ao FTe

(4) PLSIERN
30. Frey 7 F - TR i A T R 7
(1) wfagf (2) geler

(3) weaH (4) T
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25. Match the list A and list B.

List - A List - B
a. Hull I. Need theory
McDougall II. Instinct theory
c. Freud III. Psycho-analytical
theory
d. Maslow IV. Drive-reduction
theory

a b c d
(1) IVv. 11 1 I
(20 IVv. 1 I I
3 I I m 1V
4 v 1 m I

26. Which of the following principle is not
included in Programmed Learning ?
(1) Principle of active responding
(2) Principle of reinforcement
(3) Principle of practice
(4) Principle of small steps

27. Which one is notimportant in the learning
process of Thorndike’s Stimulus-Response
Theory (S-R Theory) ?

(1) Motive

(2) Stimulus

(3) Operant behaviour
(4) Drive

28. Which of the following learning is placed
on the lowest level in Gagne’s Hierarchy of
Learning ?

(1) Signal learning
(2) Chain learning
(3) Concept learning
(4) Verbal learning

29, Voice modulation during teaching is the
example of
(1) Skill of reinforcement
(2) Skill of closure
(3) Skill of stimulus variation
(4) Skill of introduction

30. Which of the following is not the element
of communication process ?

(1) Feedback (2) Reinforcement
(3) Medium (4) Interaction
[ B.T.0
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31. Feffen § & S-un Ry fem A g & wd

TwR?
(1) 3o - aged () Ifd - ehifd
(B) & - omgafe  (4) oM - IR
32. gia Hifv
I. TR A. 34
. 3= B. wdu
. C. %
V. D. U
I O I Iv
() B A C D
20 C D B ‘A
8 D ¢ A B
4 A B C D

33. FefRaaddsm-wimawe?
(1) IF<H <aaH Sl ATHT Y11 2
(2) & 3=t g fafean veamaT R
(3) SHHAT, TFAAI. - AP
(4) F1gN e 5 o7 39 H 371 Teyay B

34. ‘S8 gR-gw i@ i wea 2 9 d Fe-an

FRFE 7 .

(1) e (2) THERE,

(3) =g (4) SURH -
35. ‘ogwm w7

(1) gt (2) ArgsHt

(3) HgHA (4) g
fdw - f=faftaa T & R W Y= 4. (36) 31k (37)
=1 farereq 9T |

FeTT R ST o1 G AT €| FelTehi, FedHT 3
Toel o1 G o GETS % GHE STEY Y TR ol | 56t
FIT ST T FHell o @&T I G195 919 TEdT 8| FHAHR
Stam 3 g w1 @ Fafi T8 w1, 3t 98 e w9
+fY SRl ST & | 59 eI ST o1 ] T 3R et 1 Sfied W
ST TTE T2l | FEATaTE SAYTd el Fer o forg g
Tl 3 Sfiaa & feru sugift wen € AR TS R |

36. el 3R Sfiae SI=Hd & 1 At @
(1) T @ R A € :
(2) Foredt 31 e T TP &
(3) fte # 21 3w €|
(4) THERAPHE
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37. - e A wEf B 7
(1) S0 e T et 2
(2) St SfErEnf 8
(3) N FeATEE W e =)
(4) ST weHf = fommn et 2

e : foq o warim it wo it we g (38) @
(39) = wel fasrey wifen)

‘T i fofy 8 sarh)
T o 7 fog st
'38. WYEAFR-TIAER?
(1) gFAR |G (2) AYLHE
(3) T 9 (4) 3 9=
89. ¥ vHN fFEFEHFE ?
(1) ga%ﬁam (2) ATHR™
(3) F¥HIHE (4) qw&E-
40. ‘Sl €EF FP-drage ?
(1) AfEEHEET  (2) WETES G
(3) SoHaTEF | (4) faTas |51

41, ITERICH R AR R Y PR-ary ?
(1) ureI-&rs wlaor (2) fammers whago

(3) FEEThE  (4) Wy
42. ‘ANETE HE SR

(1) wTSmoT <t (2) WIFI S H

(3) 3TEHTOT (4) fawist
43, god hfm:

I Gl e A. TVERH

1. TeiaEeE B. q&™

1. Y@ C. TUWE Wl

IV. W D. g™

I I I v

() C D B A

2) D C B A

@ B € D A

4 A B C D
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50-
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. 3G 331 & s
I 93 @ T )
I I 9 foraar 2l
V. i g vedt )
(1) I, TSI

(2) LI, IV
(3) LUV

4 1@l

FreafRea i - smadie ?

I TR ST i g
. o ISR SR A gl
II. YIRS o S=aIRUT oh SR A1eh & Sgd H Gid

ﬁaﬁm%aﬂtﬁsﬁaﬁm&
(1) FadITE I (2) FaAI
(3) Faa I (@) 1, IITE I
‘ﬁ@mmﬁ’%ﬁmmﬁ% -
(1) FH (2) g
(3) THFER A (4) fod i gid
‘afed’ wafa-Reee s g ?
(1) @q+fea (2) @& +fea
(3) @+ o 4) a'q1+ﬁ1§
‘She mat-fe et
(1) 3q+Ffm 2) I+ =
(3) | +fe= (4) 3a+Fm
‘St Tty STy
e e 8 g -
AR 3T AT
I R B - T R 7
(1) 5 (2) 3I9dT
(3) TTH (4) I
o ST YT -4 S HUEE H,
3 g Fafd FER s@ A 8 11
il g ST 8
(1) a0 (2) @Y
(3) ®IF (4) I9w

Frferfiga i @ F-a1 758 s 91 Tgae QM
A B whar g 7

(1) S () ¥
(3) gﬁ (4) wfeTeRt
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W ST qG0E 1 S -F TH A B 7
(1) Fftr - wr@ (2) Hfied -
(3) e - e (4) 3T - B

frfiRaa wreat i Rre sve @ féw smg 2 7
(1) 314 + B = T

(2) 3q+Ha =35

3) i + arfea = P

4) 1 +w@u=fwu

T yrsg W AegET AHTE B 7

(1) dawa (2) Prgem
(3) dreym (4) e
‘R R Ha 1’ TR o o7 R 7
(1) ST ST '
(2) WO-HR W IARE €T
BERERESS

(4) ST Ml

‘TR WEA DT TASH & amﬁ 8’ -1 Faam
27

(1) « aiﬁwaaaﬁaﬁaéqm

(2) HEFHETEE GEAH

(3) T wdam

(4) Frregars wdTm

“FRYE ST G g T w36 S
oy 2 7

(1) TorETE faso

(2) W T

(3) - HEHETE fawu

(4) wftTUTETEE faRo

aaamaﬁwaawaﬁaaﬁmaamw
FEAE 7

(1) < (2) T

(3) e (4) ¥

fafaflaa @il i fifde fwaet § sw-ar
IWERT

(1) © - 3reqwmr, & (2) ¥ - afrsqam?rq
(3) = - T, W (4) @ - HETHI, g

‘o’ <t qiaTe TE R
(1) mg (2) wrT-
(3) Rrefga (4) fafirg
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Complete the following sentence with the
most appropriate word :

Priya is not for this kind of a job.
(1) cutup (2) cut through

(3) cutout (4) cutin

Which of the following nouns is a material
noun ?

(1) Irony (2) Class

(3) Kalidas (4) Iron

Which of the following is a grammatically
acceptable sentence ?

(1) Give me four five rupee notes.

(2) Give me four five rupees notes.

(3) Give me four fives rupees notes.

(4) Give me four five rupee note.

Identify the subject of the verb in the
following sentence :

Every boy along with his parents is waiting
in the next room. :

(1) Every boy along with his parents -

(2) His parents ' <

(3) Boy along with

(4) Every ' :

Which of the following sentence has an

adjective clause ?

(1) I bought a chain because it was
beautiful.. :

(2) Ibought a chain and it was beautiful.

(3) I bought a beautiful chain.

(4) I bought a chain which was beautiful.

Direction : Read the following stanza carefully and
answer the questions (Question Nos. 66 and 67)

that follow it :

66.

67.

Break, break, break, .
On thy cold gray stones, O Sea !
And I would that my tongue could utter
The thoughts that arise in me.

What is the meaning of the word ‘utter’ ?
(1) Stifle (2) Speak
(3) . Suppress (4) Silence

What {s the mood of the poet ?
(1) None of these

(2) Pessimistic

(3) Optimistic

(4) Both (2) and (3) .

Paper - 2/B

Direction : Read the passage given below and
answer the questions (Question Nos. 68 and 69)
that follow it : '

The first step is for us to realize that a city need
not to be a frustrater of life; it can be among
other things, a mechanism. fqr enhgncmg life, for
producing possibilities of living which are not to
be realized except through cities. But, for that
to happen, deliberate and drastic planning is
needed. Towns as much as animals, must have
their systems of organs — those for transport and
circulation are an obvious example,

68I

69.

70.

71.

72.

73.

74.

Which one of the following has the opposite
meaning to the word ‘frustrater’ in the

passage ?

(1) Applauder (2) Approve

(3) Executor (4) Promoter

The word ‘drastic’ in the passage means
(1) Powerful (2) Consistent

(3) Determined. (4) Orderly

Fill in the blanks with correct preposition :
Napoleon had genius military
tactics, without doubt he is genius
Mathematics.

(1) in, for (2) -at, in:
(3) in, at (4) for, in

Which part of speech is the word
‘ingenious’ ?

(1) Adjective- (2)
{3) Adverb. 4)

The feminine gender of the word
‘Bachelor’ is

(1) Steward (2) Spinster
(3) Wizard (4) Woman

Change the following sentence into a
negative one :

This boy plays football.

(1) This boy no plays football.

(2) This boy do not plays football.
3) This boy does not play football.
4) This boy not plays football.

Change the following sentence into a

question : )

Madhusudan knows how to cheat.

(1) Does Madhusudan knows how to
cheat ?

(2) Does Madhusudan know how to
cheat ? '

(3) Do Madhusudan knows how to cheat ?

4) V\lf_lhat I;iadhusudan knows how to
cheat

Pronoun
Noun
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75.

76.

7.

78.

79.

80.

81.

82.

Which suffix should be used to pluralize
the following word ?

taxi
(1) -es (2) -en
(3) -ren 4) -s

Fill in the blank with the right word from
the alternatives :

Sardar Patel the farmers of Bardoli
in their fight against the government.

(1) lead (2) leed

(3) led (4) lad

Choose the masculine gender from the
options given below :

(1) Countess |
(3) Drake,

(2) Peahen
|(4) Roe

Which of the following sentences has a
request ?

(1) Wish you a happy journey together.
(2) “I got the concert tickets !” :

(3) How fast you ran !

(4) “Could I borrow some money from you, -|

please ?”

Which of the following word does not have
silent letter/letters ?

(1) Knowledge (2) Cattle.

(3) Psychology . (4) Doubt

Which conjunction will be the most
appropriate to join the following

sentences ?
You will not succeed. You work harder.

(1) unless - (2) than
(3) none of these (4) until

Which of the following sentences has been

punctuated correctly ?

(1) Renu said give me a pen a pencil and
a book.

(2) Renu said “Give meapena pencil and

a book.”

(3) Renu said, “Give me a pen, a pencil
and a book.” ¢

(4) Renu said Give me a pen, a pencil and
a book.

Fill in the blank in the following sentence
with the correct alternative :

I did not inform at all,
(1) Anybody (2) Any
(3) None (4) Nobody

Paper - 2/B

83. The antonym of ‘Justice’ is
(1) Injustice (2) Disjustice
(3) Mljustice (4) Unjustice
84. The synonym of ‘Adroit’ is
(1) Clever (2) Powerful
(3) Potent (4) Skilled

85. Which alternative is the correct indirect
form of the sentence ?
He said to me, “When will you come
back ?”
(1) He asked me when you would go back.
(2) He asked to meavhen I would go back.
(3) He asked me when he would go back.
(4) He asked me when I would go back.

86. Change the following sentence into Active
voice : 3
The bird was killed by a cruel boy.
(1) A cruel boy had killed the bird.
(2) A cruel boy killed the bird.
(3) A cruel boy was killed the bird.
(4) A boy killed the cruel bird.

87. Change the following sentence into Passive
voice : : r
He kept me waiting.
(1) ‘T had been waited by him.
(2) Iwaited by him. x g
(3) I was kept waiting by him.
(4) Iwas waited by him,

88. Which of the following sentences has a
‘modal verb’ ? o0 _
(1) Seeing is believing. F.d
(2)° Her sister known to me.
(3) She comes here to study.
(4) You must improve your spelling.

89. Fillin the blank in the following sentence with
the correct word from the alternatives :
He solved all the questions with
(1) easy (2) easily
(3) easier ' (4) easer-

90. Fill in the blank with the correct form of
pronoun in the following sentence :
Rama and were present.

(1) None of these
2) I

(3) 'Me

(4) Both (2) and (3)

[P.T.O.
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91.

92.

93.

94.

95.

T - IV (1) / PART -1V (1)
fira wd R / MATHEMATICS AND SCIENCE

HETTHHHE m HRI, HETm (m +2) (m +4)
s fanifra g

(1) 39 (2) 5%
(3 74 (4) 2%

- [%)3:([%%]2»6 =(%)9 -

LiCh

(1) 9 2) 8
(3) 6 4) 12
T o @ = T & 10 FiysTeR #98 & gHel

! et = T R | ek ghS o A 20 A,
50 et 3i 50 et ¥ | S T F T TRE T
foran wa2 Y a7

100 V6 =i &t
5000 V6 =i &t
1000 V6 ari @
10000 V6 @i @’

(1)
(2)
(3)
(4)
7z faama vt ax? + bx + ¢ = 0 % TH I,
@iqﬁﬂwa.?ﬁﬁﬂﬁﬁiﬂﬁﬂﬁ“ﬂlﬂﬁ%?

(1) a=c (2) ac=1
3) b=c (4) a=b

e HEAdH, FT S 6 10 91 3 31
S e & | @ o 2 AR |

(1) 5% (2) 8%
(3) 10% (4) 2%
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91.

92.

93.

924,

95,

For a natural number m, the product
m (m + 2) (m + 4) is always divisible by
(1) 3 (2) 5
@) 7 (4) 2

3 2x-6 9
If (2) x(ﬂ] = (Z] , then value of

7 81 9

x is
(1) 9
38) 6

(2) 8
4 12

An umbrella is made by stitching
10 triangular pieces of cloth of two different
colours. Each piece measuring 20 cm,
50 cm and 50 cm. How much cloth of each
colour is required for umbrella ?

100 J6 sq.cm

5000 V6 sq.cm
1000 V6 sq.cm
10000 V6 sq.cm

(1)
()
(3)
(4)

If one root of the quadratic equation
ax? + bx + ¢ = 0 is the reciprocal of the other,
then which of the following is correct ?

(1) a=c (2) ac=1

(3) b=c (4) a=Db

A sum of money doubles itself in 10 years
at simple interest, What is the rate of
interest ?
(1) 5%
(3) 10%

(2) 8%
4) 2%

[ P.T.O.
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96.

97.

98.

99-

100.

101.

102.

103.

104.
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AR IR WA B, B, 3k B, v H R A | 96.
3:7: 5% sy & qon ffedl B, R de,
ﬁ%ﬁB}ﬁmﬁwd@mﬁgaﬂw%w
I T o D, 79 9 w AR Rl i ww A
T ?
(1) 630 (2) 238
(3) 942 (4) 945
qﬁx=(2—-\f§)_13\1,ﬁax3—2x2—7x+5 97.
A R
(1) 2 2 1
3) O 4) 3
A1 A+ ATF i wend, AATFadFT | 98.
37! ) de B
(1) 3 2 4
(3) fAfvaa 4 2
TR o g HAmegadg g ad | 99.
Qe 31 ST T ST 12 : 1 9T | 4 o o1g SR
3R 1 ST T
(1) 15:4. (2) 14:3
(3 16:5 (4) 13:2
FHIERT abx? = (a? + b? + 2ab) (x - 1) FHeli & .| 100.
SIcFH 1 A B '
1

(1) 2 =
3 2 (4) 1

3
gfe e M it s 3 50% it g A =g, A gas | 101.
u1vd e 1 fara gfawra i afg anfi ?
(1) 125% " (2) 150%
(3) 200% (4) 100% :
W x = 1 3y = 1 & fd=eg g 1 Fdmsw g | 102.
(1) (1,0 (2) (1, 1)
(3) (0, 0) (4) (0, 1)
f3 3 T Tl 1 GHIRT AIEA 91 O AT | 103,
;5 @t 3 8, i Hed g1 Wl |
(1) 9,1 (2) 4,16
3) 4,8 (4) 2,4
3 it 3 ol a1 g 27 : 64§, FEEE | 104,
et 3 B % 3T 8
(1) 3:4 (@ 9:16°
(3) 27:64 (4) 3:8 -

16

(00 A

IfB,, B, and B, are three kinds of birds on
atree in the ratio 3: 7 : 5and number of B,
birds are more than B, birds by a multiple
of 9 and 7 both, then minimum number of

birds on the tree are
(1) 630
(3) 942

-1
If x= (2 - \fg) , then the value of
x3-2x2-Tx+51is
(1) 2 @ 1
@ 0 (4) 3
If 10° A + A is a perfect square, then the
minimum no. of digits in A is
(1) 3 (2) 4
(3) Un_determined 4) 2

238
945

(2)
(4)

The sum of the present ages of father and
son is 68 years. 8 years ago, the ratio of
their ages was 12 : 1. The ratio of their ages
after 4 years hence is

(1) 15:4 (2) 14:3"

(3) 16:5 “4) 13:2

The sum of the reciprocals of the roots of
the equation abx? = (a2 + b? + 2ab) (x — 1)
is

(1) 2

3) 2
3

If the radius of a sphere is increased by
50%, then how much percentage increases
in its lateral area ?

(2)

(1) 125% 150%

(3) 200% (4) 100%

The co-ordinate of point of intersection of
linesx=1andy=1is

(1) (1,0) (2). (1, 1)

(3) (0, 0) (4) (0, 1)

If arithmetic and geometric mean of

two positive numbers are 5 and 3, then
numbers are

) 9,1 (2) 4,16

(3) 4,8 4 2,4

The ratio of volume of two cubes is 27 : 64,
then ratio of their total surface area is

(1) 3:4 (2 9:16

(3) 27:64 4) 3:8

(2)

1
2
4 1
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106.

105. qﬁx4+$‘=14ﬁ,ﬁx3+—]{?ﬂﬂﬂ%
A. 3.6. .
18
B. -
2
C. g\g
D. 32
1) A,C,D 2) B,C,D
(3) A,B,D (4) A, B,C
TR Bys ABC & o11:99 1 %% O & iR
2BOC = 110°®, @ ~,BAC % 5F &
(1) 40° (2) 55°
(3) 110° (4) 20°

107.

108.

109.

110.

111.

112,

- iv.

I ot T F 75% T 75 S I8 e
B! 91T, T 98 T At '

(1) 270 (2) 225
(3) 325 (4) 300
250 340 430 eyt 5207 HaY S TEAT &
(1) 3%~ " (2)0
(3) 5% (4) 2%°

AB T 1 51 9 & 3 ABCD 38 Hiat 1 T

T 19R LACD = 40° &), @ ZBAD & WA T

)

(1) 40°
(3) 90°

(2) 80°
(4) 50°

A o<x<5dM5<y< 103, T
iferead AH M

(1) 1 (2)

1
2
(3) 2 4 O
gmy=7x—2%ﬁrqﬁﬂ%%aﬁﬂa?ﬁ—m
FATAE 7
(1) m@aﬁﬁﬂiﬂ%l

(2) FWHATE |
3) g% A EA 6 |

(4) TEFEFEEATEE |

, (49)126 1 ﬁaﬂ@ﬁ@hﬁmﬁlﬁﬁ?
i

48
29

8 .
ii 3R v
{ AN dii

i,
iii,

iii s i
ehal Y

g

3
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105.

106.

107.

(3) 325
108.

109.

110.

111.

112,

If x* +-14- =14, then value of x> +-x—13-is

X
A. 376
g &2
" J6
C. 2
¥
D. 842 '
(1) A,C,D (2) B,C,D
(3) A, B,D (4) A, B,C

If O be the centre of incircle of a triangle
ABC and « BOC = 110°, then value of zBAC
will be
(1) 40°
(3) 110°

If 75 is added into 75% of a number, gets
that number, then that number will be
(1) 270 (2) 225

(4) 300

Greatest number among the 2%°, 3%, 4%
and H5¥is.

(1) 340 (2} 430

(8) & (4) 2%

AB is a diameter of a circle and ABCD is a
cyclic quadrilateral in that. If ZACD = 40°,

(2) 55°
@) 20°

. then measurement of ZBAD is

80°

(1) 40°
50°

(3) 90°

(2)
(4)

IfO<x<5and5<y< 10, then maximum

valoe ot | = | 4will be
[y Ao ?
3) 2

@ =
2
@ 0

For the equation y = 7x — 2, which of the
following statement is true ?

(1) It has a unique solution.

(2) It has two solutions.

(3) It has infinite number of solutions.
(4) It has no solution,

(49)'S - 1 is completely divisible by which
niumé)gr P

il. 48

iii, 29

iv. 8

{1} ii and iv 12} iii and iv
3) {and il 4) {andii

[ P.T.O.
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113.

114,

115,

116.

117.

118.

119,

€cos135°sin210°cos 150° 1 0 A
sin270°cos 315°

- V3
1 =
(1) 7 (2) =
@) V3 @ 2
Q! waw frem w1 pRwa 6723 3, @ 9@
T 1 i @
(1) 7 2) 729
(3) 91 (4) 9

2?Iﬁx"‘+px—q?!‘?ITsz—(?.px— 15q Rl HEdHq
THIYEAS (x — 3) &, A p U1 q & 7H Nl

S
1 -39 @ -3,-4
S -3
@ 34 & %

T e, AT aul g R R
T FAM © | 37 5 I Sl 8 3T &
(1) J3:43:1 2 1:4/3:43
3) v2:1:43 @) V2:42:1

AR 15% T 3R 15% T 1 3=/ 2 450 =, 1
99 &

(1) ¥1,500 (2) 22,000

(3) %2,200 (4) %1,200

afe A ABC U wmfzag e & it 2 ABC = 90°
1,79 A ABC IR A geg o §

(1) 2(AC)? = (AB)?

(2) (AB)? + (AC)? = (BC)?
(3) (BC)® + (AC)= (AB)?
(4) (AC) = 2(AB)?

af 1 eafa et gaTHR 99 %a’l‘mmﬁm

H qg & &, aa 36 T @ 39 7ok v ot we ofeen
0 1 =dfla gug &

(1) °5m fime (2) .4_5’31&13
4 .

(3) — fre (4) D fire
4m 4
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115.

v |
118. If A ABC is an isosceles triangle such that

_ R

cos 135°sin 210°cos150° g

value of oin 270°COS 315°
1 @ 33

4 5 3
Na

@ 3 Y

iplicati ative odd
ultiplication of two consecu
Eg?nrgers i 6723, then square root of the
smaller number is
(1) 7
(3) 91

i mon factor of x? + px-q and
Lot COIInSq is (x — 3), then value of p

(2) 729
(4) 9

5x2 - 3px -
and q will be
54 2 -2,-4
(1) "'53’ 3’
: 3
=4 4
@ 3 B 4-¢

A cylinder, a hemisphere and a cone is
having same base and same height. Their
area of curved surfaces are in the ratio

(1) V3:43:1 (2) 1:43:43
(3) V2:1:43 4) V2:42:1
If the difference between 15% loss and
15% gain is ¥ 450, then the cost price is

(1) 1,500 (2) z2,000
(3) %2,200 (4) 1,200

ZABC =90°, then the t
about A ABC is rue statement

(1) 2(AC)? = (aB)?
(2) (AB) + (AC)2 = (BC)?
(3) (BC)? + (AC)2= (AB)2
4) (AC)? = 2(AB)?

y
th

If a ma i
Tl Covers = part of a circular track

5
(1) ——Eminutes (2) 4m

4 —— minutes
(B > mi >
m
4m Minutes (4) M minutes

4
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120. TR x+y=2z8, xfz*‘yiz‘cﬁlm'@l’ﬂ
(1) 1 (2) 2
(3) xyz (4) ©

121.
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123.

124.

125.
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128.

Frfofaa o @ S-w fafa, gl 6 e @
Fare ?

(1) ffmc 2) fefmD

(3) ﬁaﬁv{}z (4) fafm B

T ST SiteRtn fafer o Tgem s iR i
zha Sore = affoe R

(1) Fa%d (2) WRUH

(3) U H (4) Wfewry
FRdasR-msase?

(1) T (2) g

(3) WF (4) VERE

TS il Wik § S e S1fireRan BT B, 3EH
IHE

(1) TREeA (2) TH.TE.TH,
(3) T, (4) SRR
feuqiermaa g @

(1) W (2) W=

(3) WU (4) Hio=E .

ST I ITREE 1 01 R S 8

(1) ¥ 3 fafa % e

(2) T faftr & g

(3) THAPE T

(4) g fafa Fam

2-methyl propane 1} 3° — Te I HEAT 8

(1) 3 (2) A

(3) 2 4) 1

Frferfaa A 7 376400 T
w

CH,~-CH - OCH,
I .
CH |
(1) 2- miethoxy - 2 — methyl ethane
2) 2+ methoxy pro{)an;
Isopropyl methyl ether
{i; 1 -pmethoxy - 1 - methyl ethane
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If x +y = 2z, then the value of S
X-2z y-2

(1) 1 (2) 2

(3) xyz 4 O

Which of the following vitamins acts as
hormone ?

(1) Vitamin C (2) Vitamin D

(3) Vitamin E (4) Vitamin B
According to five kingdom system of

classification, bacteria and blue green algae
are included in

(1) Fungi (2) Monera
(3) Plantae (4) Protista
Which of the following is a tissue ?
(1) Blood (2) Kidney
(3) Lung (4) Ovary

Name of the hormone which is at the
peak during ovulation is

(1) Estrogen (2)
(3) LH

FSH
(4) Progesterone

Hippocampus is a
(1) Protochordate
(3) Mammal

(2) Fish
(4) Coelenterate

The ore copper pyrite is concentrated by

(1) Froth floatation process
(2) Gravitational method

" (3) None of these

(4) Magnetic process

Number of 3° — carbons in 2-methyl
propane is

(1) 3 (2) Zero

(3) 2 4) 1

IUPAC name of the following compound is
CH,-CH-OCH,
o,
(1) 2 -methoxy - 2 - methyl ethane
(2) 2 - methoxy propane
(3) Isopropyl methyl ether
(4) 1 - methoxy - 1 — methyl ethane

v ’ [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

129. 167 % 913 e ¥g du ot 129.
(1) S (2) Si
) P (4) N
130. Wﬁx%nﬁﬁﬁ%’fﬁﬂ&iy%nﬁﬁﬁtﬁﬂﬂl 130.
A. T x T y % A oiwit o At
18@rR |
B. xﬂﬁaaﬂm= X%ﬁ@m
fawzm & At it @
C. ymﬁam=.&_
ny +ny
D. x & 9 3w = — X
ny+ny
(1) F=AA (2) ¥AA, B
(3) A,B3RC (4) FFE D
131. T=fciRed # & wH-w1 fga-gefa s adig 7 | 131.
(1) gewaa (2) wUHH
(3) = (4) X-ferrot
132. qmﬁ%gmﬁuw%@mqﬁaﬁmwmé\m%_ 132.
(1) 45° (2) 90°
(3) 180° @) 0°
133. HE@® 133.
(1) YR & a0re
(2) €& R F HAE
(3) T IR THF
(4) THAREA
134, frie uw fem fomeeh dteo o s  ? 134.
(1) o™ (2) @&
(3) FHAFET  (4)
135,  m %A ¥ T 1 i e Sl E R | 56 W6 | 135
il
(1) 2mE (2) %mE
¢ g
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The bond energy for catenation next ta

carbon is ;
1) S 2) Si
3) P 4) N

n_ mole of substance x was dissolved in
n, mole of substance y.
A. The total of mole fractions of substance
x and y remain 1.
B. Mole fraction of
No. of moles of x

X =
No. of moles of solution

Ry
C. Mole fraction of y =
ny +ny
. Ny
D. Mole fraction of x =
Dy * Ny
(1) Only A (2) Onmnly A, B
(3) A,BandC (4) Only D

Which one of the following is not an
electromagnetic wave ?

(1) Microwave (2) Ultrasonic

(3) Infrared (4) X-rays

The angle of dip at magnetic equator of
earth is

(1) 45° (2) 90°
(3) 180° (4) 0°
Decibel is

(1) The wavelength of noise
(2) A measure of sound level
(3) A musical note

(4) A musical instrument

Kirchhoff’s current law is based on the
conservation of

(1) mass (2)
(3) none of these (4)

charge
momentum

The kinetic energy of a particle having mass
m is E. Its momentum will be

(1) 2mE 2) %mE
@) 2mE () %mE
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A x, S % 1 I Y1 § w1 il
m?ﬁ‘ﬁﬁ,ﬁ’tw Sl X,

[1} Xl>x2 (2) X1=X2
B x5 x, ) x<x,
I 6 w7, g R

(1) s (2) aptf
® @) ¥
A S T B v e

(1) ¥ gy
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D. @fs afEed jv, TdiseEl
(1) A-iv B-ii C-ii D-—'i
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If the image of an object having length x,
with convex mirror has length X,, then

(1) x,>x, (2) x,=x,
@) %3 x 4 x<x,
The SI unit of heat is

(1) Kilocalorie (2) Erg

(3) Joule (4) Calorie

In medium, the nature of sound waves is
(1)
(2)
(3) neither longitudinal nor transverse
(4)

only transverse

both longitudinal and transverse

only longitudinal

The value of one Angstrom is
(2)

(4) 107 micron

(1) 10~ micron 10-° micron

(3) 107'° micron

The speed of sound wave is maximum in
(1) Air (2) Steel

(3) Vacuum (4) Water

Which is the aquatic bryophyte ?
(1)
(2)
(3)
4)

Marchantia polymorpha
Riccia fluitans
Marchantia palmata
Riccia discolor

Which of the following is ‘total stem
parasite’ ?

(1) Rafflesia (2) Santalum
(3) Viscum (4) Cuscuta
Match the following events in plants.
A. Absorption i. Xylem
of water
B. Absorption ii. Phloem
of minerals
C. Transport of iii. Root hairs
water :
D. Transport of iv. Epiblema
minerals
(1) A-iv B-iii C=ii D-i
(2) A-iii B-iv C-ii D-i
8) A-iv B-ili C-i D-ii
(4) A-ili B-iv C-i D-ii
[ P.T.O.
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(1) = 3= Sfea < wmme 28 ) SR w e |

(2) == Sita R Rl & sarn g |

(3) < o it Sig S wmry Y o T sw ey
Sl

(4) S ST S e v R S &
IR ST | '

YTt 3 HTET ST o T S SR e Y

(1) veTr, afiis, gme v affem

(2) s, afde, swenm @ g

(3) 3verm, afdem, afde wd qemE

(4) afde, afdem, e w gom

FHfeymyH 9 weitfa s g ?

(1) 2Zn+0,- 22Zn0

(2) 22ZnS+30,-22Zn0 +28S0,

(3) MgCO, - MgO + CO,

(4) 2Ag+2HCI+[0] - 2 AgCl + H,0

AT TTEH T e Tz YR i e S R 7

(1) H,S (2) Br,

3) so,. @ a,

= el w fomm Hifsie

1. BF,

1. IF,
. CO,

IV. PCI,

¥ Jifireni | seEgTee ©
(1) IRV (2) I, ARV
(3) LILmRIV (4) 13RI

e 1§ w1 AR dme i % forg
Tad Afus rmfia 2 ?
(1) CH,<o)rCHO (2) CH,0 <0)CHO
(3) NO,<°)-CHO (4) CH,CHO

s arft 3wt i S & A 3T AT W
A. T e % o § i oA 3

B. g B d i 8l B

C. g e & wr F Fft ot @

(1) ¥9a B (2) ad C

(3) A, B3RC (4) %I A
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Endemic species are
(1) Wild species which are under threat

of extinction.
(2) Wild species which are rescued from

poachers. -
(3) Plants and animals which are very
common and distributed throughout

globe. '
(4) Plants and animals which are found

exclusively in a particular geographical
area.

The correct sequence of parts of female
reproductive organ in plants

(1) Ovary, Style, Thalamus and Stigma
(2) Stigma, Style, Ovary and Thalamus
(3) Ovary, Stigma, Style and Thalamus
(4) Style, Stigma, Ovary and Thalamus

Which represents calcination ?

(1) 22n+0,— 22Zn0O

(2) 2Z2nS+30,— 22Zn0O +2 SO,

(38) MgCO,— MgO + CO,

(4) 2Ag+2HCl+ [O] - 2 AgCl + H,O

Which colourless gas turns lead acetate
paper black ?

(1) H,S (2) Br,

(3) SO, 4) c,

Consider the following compounds :
1. BF,
II. IF,
II. Co,
V. PCl,
Among these compounds, the electrophiles
are
(1) IIand IV (2) L II and IV
(B) LI,MandIV (4) IandIl

Which of the following is most reactive
for nucleophilic addition reaction ?

(1) CH,<°»CHO (2) CH,0~5»CHO
(3) NO,<°»CHO (4) C,H.CHO

On coming down, the group iri periodic
table

A. The value of electronegativity

decreases
B. Atomic radius increases

C. The value of ionisation enthalpy
decreases

1) Only B 2) Only C

3) A,BandC 4) Only A
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(2) TSFEHw
(3) IvEREy
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(1) SEREFR () g
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(2) I o A
(3) =ta T TEA A
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92.

Who got built ‘Sudarshan Lake’ ?
(1) Samudragupta (2) Bindusara
(3) Ashoka (4) Chandragupta

The Genealogy of the Pushyabhuti dynasty
begins with the name of which of the
following Kings ?

(1) Naravardhana

(2) Rajyavardhana

' (3) Prabhakaravardhana

93.

94,

95.

96.

97-

(4) Adityavardhana

Which among the following Chalcolithic
rural culture is earliest ?

(1) Ahar Culture (2) Kayatha Culture
(3) Jorwe Culture (4) Malwa Culture

Northern India, before rise of Mauryas

was divided in

(1) Ten Monarch States

(2) Two States

(3) Twenty Monarch States

(4) Sixteen Mahajanpadas and
Republics

Aram Bagh was constructed by which
among the following Mughal Emperor ?
(1) Humayun (2) Akbar

(3) Jahangir (4) Babur

Who started Home Rule Movement in India
in 1916 ?

(1) B. G. Tilak (2)
(3) G. K. Gokhale
Match the following :
A. Raja Ram Mohan 1. Ram Krishna

Lala Lajpat Rai
(4) Gandhiji

Roy Mission
B. Vivekanand II. Prarthana Samaj
C. Dayanand Illl. Brahmo Samaj
Saraswati
D. M. G. Ranade IV. Arya Samaj
A B CD
1) I v 1m 1
2 v I 1 I
3) 1 I I IV
4 1II 1 IV I
| BT.0O.
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V) 0 A

Which of the following is called “Mother of
Indian Revolution” ?

(1) Kalpana Dutt

(2) Madam Bhikaji Kama

(3) Annie Besant

(4) Preetilata Vadedar

The text of which of the following authors
furnishes the details of history of the
Kashmir during twelfth century A.D. ?

(1) Kalhana (2) Bilhana

(3) Jalhana (4) Kalidasa

Which of the following Sultan of Delhi
assumed the title of ‘Sikandar Second’
(Sani) ?

(1) Balban

(3) Sikandar Lodi

Godavari river originates from
(1) Nasik (2) Betul
(3) Amarkantak (4) Mahabaleshwar

Suez canal connects

(1) Mediterranean Sea — Atlantic Ocean
(2) Red Sea - Arab Sea

(3) Mediterranean Sea - Red Sea

(4) Mediterranean Sea — Arab Sea

Which of the following is/are the ideal
conditions for temperature inversion to
occur ?

A. Cloudy skies

B. Calm and stable air

C. Long summer days

Select the correct answer using the codes
given below :

(2) Alauddin Khilji
(4) Iltutmish

Codes :

(I) Conly (2) BandC only
(3) A,BandC (4) Bonly
Meghalaya Plateau is an extension of
(1) Himalaya

(2) Aravali

(3) Peninsular Plateau
(4) Tibet Plateau

Which one of the following agents of erosion
is responsible for the formation of sand
dunes ?

(1) Glacier

(2) Underground water

(3) Wind

(4) River
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106. Which one of the following is the lower-most
layer of the carth’s atmosphere ?
(1) Mesosphere (2) Stratosphere
(3) Thermosphere (4) Troposphere

107. Which one of the following is a warm
current ?

(1) Canary current

(2) Labrador current

(3) Kuroshio current

(4) Kurile current

108. Which one of the following is the cheapest
means of transport ?
(1) Water transport (2) Rail transport

(3) Road transport (4) Air transport

109. Antecedent river is
(1) Ganga

(3)

(2) Yamuna

Godavari (4) Satlyj

110. Outer layer of the earth is called

(1) Hydrosphere
(3) Crust

In which country did Prime Minister
Narendra Modi went to participate in G-7
Summit in 2019 ?
(1) Germany

(8) Italy

(2) Troposphere
(4) Lithosphere

111:

France
England

(@)
(4)

What is the number of Judges in the
Supreme Court of India ?

(1) 31 (2) 33
(3) 34 (4) 30

112,

113. When was Look East Policy’ changed to

‘Act East Policy’ ?
(1) December 2014 (2)
(3) December 2015 (4)

November 2015
November 2014

114, The Uttar Pradesh Zamindari Abolition and

Land Reforms Act, 1950 is included in the
(1) Tenth Schedule

(2) Eleventh Schedule

(3) Twelfth Schedule

(4) Ninth Schedule

[ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

115.

116.

117.

118.

119.

120.

121.

Paper - 2/B

T w1 =51 wdnfes gemeE AT o1 7
(1) & geiya

(2) . . geh

(3) =& w. g

(4) S1. TR YEE

WA G6E & T ot afify s-dft 2 7
(1) o= Er afify

(2) = waon affy

(3) e afafy

(4) TR ITHT gify

Frfoes & & S7-a1 afium ¥ 73 § g §
affoae ?

A. o damg

B. &% Y91q

C. UMW Y=Ed

D. TR
ﬁ%ﬁqw@ﬁﬁaﬁtwﬁﬁu:

ETE
(1) B,C3iRD 2) A B3IRC

(3) i =i 4) A,B3RD
T Fierem % 7 fe o & R srafie wifft
THHTEE?

(1) F=z=

(2) THAAF=ZH

(3) T i A

(4) T

TAR WY H g Sdeq el 1] 7141 91 7
(1) 19774

(2) 19784

(3) 1979#

(4) 1976

gdgem ‘TarEd TS % TeA o ad ge 7
(1) 1968 (2) 1959
(3) 1987 (4) 1972
Yo gart arel § ferat A gt € 7
(1) 12 (2) 14

(3) 15 (4) 16

115.

116.

117.

118,

119.

120.

121,

26

R O

Who was the Constitutional Advisor of the
Constituent Assembly ?

(1) K. Subba Rao

(2) K. M. Munshi

(3) Dr. B. N. Rau

(4) Dr. Rajendra Prasad

Which is largest Committee of the Indian

Parliament ?

(1) The Public Accounts Committee

(2) The Business Advisory Committee

(3) The Estimate Committee

(4) The Committee on Public
Undertakings

Which of the following are incorporated in
73™ Amendment of the Constitution ?

A. Zilla Panchayat

B. Kshetra Panchayat

C. Gram Panchayat

D. Nagar Nigam

Select the correct answer from the codes

given below :

Codes :

(1) B,CandD (2) A,BandC
(3) All the four (4) A,BandD

According to the Indian Constitution, which
of the following has been given Residuary
Powers ?

(1) Centre

(2) States and Centre

(3) Local Bodies

(4) States

In which year Fundamental Duties were
incorporated in our Constitution ?

(1) In 1977

(2) In 1978

(3) In 1979

(4) In 1976

In which year ‘Panchayati Raj’ was first
setup ?

(1) 1968
(3) 1987

How many Matras are there in Tal
Pancham Sawari ?
(1) 12
(3) 15

(2) 1959
(4) 1972

(2) 14
(4) 16"

-
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122, 9= AW 30 TH H @R R D 7

123.

124,

125.

126.

127.

128.

129.

130.

(1) IR =% FEmmem

(2) wiferm =g g

(3) IR EE

(4) Tores = ¥R

TFT & 1 T G TR 7

(1)

(2) aEE=

(3) ufx

(4) ST ST

I a1 § e : IR AT Bl 8
(1) 10:1 2) 15:1
(3) 20:1 4 5:1
Tafaree get # et ot Tl o AT TgUTd i
FEAE

(1) a1 &= (2) WETFMHR
(3) T EHE (4) T3 EH==d
TS Ay e il St B 7

(1) S 9ga Sl 8 W

(2) IR FE T T 9E TR R
(3) TIeSl H YT e T T

(4) ot < YT S TE A T

ey # Hicram 6wl F PH-a A

Arare ?
(1) AfeddnfE  (2) i
(3) fRdmeRm  (4) R

Freieifar § W AT aed HHE-A g 7

(1) G (2) wifer
(3) T (4) @m
e Al Tefa FEfra @ 7

(1) wweEd (2) e
(3) T (4)

e farft amenfa B

(1) AT

(2) T@AW

(3) THAFE T

(4) T HiEA T
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123.

124.

125.

126.

127.

128.

129,

130.

Who is the writer of national song Bande
Mataram ?

(1) Sharat Chandra Chattopadhyay
(2) Bankim Chandra Chatterjee

(3) Amir Khusro

(4) Rabindranath Tagore

What is the singing time of Rag Bhairav ?
(1)
(2)
(3)
(4)
C : N ratio of normal soil is

(1) 10:1 2) 15:1
(3) 20:1 (4 5:1

Noon
Evening
Night
Morning time

The relative proportion of soil separates in
a particular soil is called

(1) (2)
(3) (4)

Sewing machine runs heavily due to which
reason ?

(1) When the belt is too loose

(2) More pressure is applied on pressure
foot o

(3) When the thread is clogged in the shuttle

(4)

Lack of oiling and cleaning
Calcium deficiency in old ége leads to which
disease ?

(1) Osteoporosis
(3) Osteomalacia

Soil texture
Soil aggregates

Soil structure
Soil groups

(2) Anaemia
(4) Rickets

Which element is called protein in
haemoglobin ?
(1) Haemoglobin
(3) Lipoprotein

(2) Globin
(4) Haem

Which German Educationist’s lesson plan
is prevalent in Europe and India nowadays ?
(2) Dalton

(4) Froebel

(1) Montessori
(3) Herbert

Project method is based on
(1) By listening

(2) By watching

(3) None of these

(4) Learning by doing

[ P.T.O.
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131.

132.

133.

134.

135.

136.

Fryofa foema & wea ) smen gdvem Pl
AR ?

(1) fova famm oy

(2) Feois wtyE Rl

(3) WA geaft g s

(4) "He g s

3 3 A o e w1 T et sfte v stran 2 7
(1) R

(2) =ifEm Wit

(3) gem

(4) ufsam

Torer Y o TReyor st it foee o ?
(1)
(2)
(3)
(4) , -
frfafea & & SH-a1 giae wwe e 1@ g ?
(1) FTH-STE-ATEEE

(2) A=A

(3) =

(4) ATEgA

frfefiga 3 & #A-d gar guem i fafy adi @ 7
(1) AT WE

(2) A AT T

(3) Sifesr @

(4) FHA TH
STretfee: Gl @ aTey AT 1@ 7

(1) FRUS ERA

(2) onfeeaw, difema, wiféaw
(3) Tg SIgeTa Tl &

(4) TR A

1986
1990
1980
1988
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Where was the sustainable development
explained for first time ?

(1) World Development Report

(2) Brundtland Commission Report

(3) First Earth Summit Report

(4) Human Development Report

Which of the following is the National
Aquatic Animal of India ?

(1)
(2)
(3)
(4)

Aligator

Dolfin Gangetica
Turtle

Crocodile

In which year Forest Conservation Act was
passed ?

(1) 1986

(2) 1990

(3) 1980

(4) 1988

Which of the following is not a green house
effect gas ?

(1)
()
(3)
(4)

Carbon-di-oxide
Ozone

Methane
Nitrogen

Which of the following is not a soil
conservation method ?

(1)
(2)
@)
(4)

Pesticides

Check soil erosion
Organic manure
Crop cycle

What is the ideal slogan of Olympic
Games ?

(1)
(2)
(3)
(4)

Forever higher

Altius, Citius, Fortius
Keep on changing
Ever onward
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137. FmfoRen 8 ¥ 97 arfy e e @ ?
(1) e @reht

(2) Yo M=

(3) =w i

(4) oy yash

TEH fF TP F e ® 7

(1) wi=

(2) 3

(3) ==

(4) =R

Frfefea & & FH-a1 e geai i vt & o’
IR R 7

(1) S

(2) <reEHA

(3) =

(4) g@ErEd

WO U W frvaferener el @t s # ?

(1) HERrg
(2) TEW

(3) =T
(4) #EF W

e i T e B

(1) FHeuE. - 120

(2) EHHEE. -8

(3) @ER

(4) o H.ded. - 87

142. fre i@ fra U590 F QRTET-TSY %61 ST g 7
(1) TeRgH

(2) wemwed

(3) HFUwem

(4) Weme

“sf7 graa’ i wiew 1 ITa A @ wea d
- (1) asfiead wifdn

(2) genfen meRm

(3) ferem mEfm

(4) TS

Paper - 2/B

138.

139.

140.

141.

143.

137.

138.

139.

140.

141.

142,

143.

29

Who is the recipient of Arjun Award from
the following names ?

(1) Pradeep Khalco

(2) Pulela Gopichand

(3) Dara Singh

(4) Vishesh Briguvanshi

How many types of recreation are there ?
(1) Five

(2) Eight

(3) Ten

(4) Four

Which of the following is the best Asana for
knee strength ?

(1) Vajrasana
(2) Tadasana
(3) Chakrasana
(4) Sukhasana

Where is First National Sports University
opened ?

(1) Maharashtra

(2) Assam

(3) Manipur

(4) Madhya Pradesh

A hybrid variety of pigeon pea is
(1) U.P.A.S.-120

(2) I.C.P.H.-8

(3) Bahar '

(4) IL.C.P.L.-87

Which of the following State is called as
‘Soyabean State'?

(1) Rajasthan

(2) Madhya Pradesh

(3) Andhra Pradesh

(4) Maharashtra

Growing of vegetables under “Green House”
is known as

(1) Vegetable forcing
(2) Floating gardening
(3) Kitchen gardening
(4) Truck gardening

| B T.O.
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144,

145.

146'

147.

148.

149.

150.

TR S 0 s v sl e g @
(1) 2.65 . /de
(2) 2.75m, /3
(3) 2.85 . /qs
(4) 2.56 m. /e

ﬁmﬁaﬁgﬁmmﬁaﬁ?ﬁq-ﬁ%ﬁmaﬁﬁ
JGTS STl & 7

(1) TH=R

(2) T

(3) HR

(4) SQISTHR

TrgfoTd TR § GRETTene 9veh ae &

(1) =&

(2) SN

(3) faarftm o wfis @am

(4) =S

Fefafaa faftei 4 @ Wiew =n 6 ao9kw f{ify
R '

(1) s

(2) qe

(3) T

(4) STl

R wmem fora fra & e B 2 7
(1) wFreTeTEee & yreq |

(2) FETHUTEAH
(3) =gfaTe o & 9T H
(4) SIEH % IrEA

St fafr 1 s fo e @
(1) o 1 8gEl gg W
(2) AR =t o1 S W
(3) e AW
(4) Tft & ol F g W
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The average value of particle density of soil is
(1) 2.65g/cm?®

(2) 2.75g/cm?

(3) 2.85g/cm?

(4) 2.56 g/cm?

Which one of the following is popular
system of planting in Hill Region ?

(1) Quincunx

(2) Contour

(3) Square

(4) Hexagonal

Protective nutrients in a Balanced diet are
(1) Fat

(2) Protein

(3) Vitamins and minerals

(4) Carbohydrate

Which one of these is the best method of
cooking ?

(1) Roasting

(2) Frying

(3) Baking

(4) Steaming

Trypsin enzyme is helpful in which action ?
(1) Digestion of carbohydrate

(2) Digestion of fat

(38) Digestion of nucleic acid

(4) Digestion of protein

Name the Chickenpox virus,
(1) Entamoeba histolytica
(2) Vibrio cholerae

(3) Bacillus Typhosus

(4) Variola virus

Schafer method is used for

(1) Fractured rib

(2) Unconsciousness

(3) Fractured leg bones

(4) Someone who is drowning
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317391/ INSTRUCTIONS )
RN.7W. A, IR-77% & wé ot TRz 7 @ wra g wft STt 1 AT 9% A |

PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MAKING ANY ENTRY ON
THE OMR ANSWER SHEET.

1. @I~ o it €, 5@ vl D o wl enaefi v | 52 el sem A w )
This answer sheet consists of three copics, the Original Copy, the Board Copy an
sceparate or displace them. . o e
2. fork ) el ¥ 0 A TR 3R | v a1 et A9 o i e v e & | G i e ameff sf s A AT |
Use Black Ballpoint Pen only. Use of Pencil/Gel pen is strictly prohibited. Do not darken the Board Copy and
Candidate's Copy separately. ; 2 T
3. ANwmaw m—mﬁqﬁéa%ﬁémmﬂmﬂqmﬁ | feh) +ft 7= &, Tor mef, TR ST A R A & A
X T W neff A 3 sewrn smo | .
Do not fold or put any stray marks anywhere on the OMR answer sheet. Use of any other paper, calculating machine,
mobile, etc., is prohibited and will lead to disqualification.
4. T . W, R, IN-T9% ) T4 IS SHE GG 3 T | A AT WA R ATTH I GH AR IR-TFF A
T 3k 3w i 7 h e |
Your OMR answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries will
render your OMR answer sheet invalid and will not be evaluated.
5. T NEEEF I SrEurigdE 37w, AR, IN-TF 8 FA 2 | 3.0, 3R, IH-G9F & S i Al T 8 |
Carefully fill in all the necessary particulars on the OMR answer sheet. Change of OMR answer sheet is not permitted.
6. IR 319 AT IR H T A RIFH M P F67 QA &, A 19 IR F 7eAd T AN T Iqh 1= T8 R et | =fa| % g e/
e =t e 9 1 e e w9 A w6 e /mei B
1f you darken more than one circle in your answer, your answer will be treated as wrong and will not be evaluated.
While darkening the appropriate circle(s) in the boxes, darken the chosen circle(s) fully as given below :

d the Candidate’s Copy. Do not

& qF1/ CORRECT METHOD Ted altsh / WRONG METHODS

oY Jolo) DF@® OREG® 08eed 00 V@O

7. INTfl Fa T F IR IAATH IW 1,2, 3701 4 T A A § | I&F T A Tl I A 2 3R 3.3, IN-15% F 7 MY
T R | 1 gu el ) wee i Tgafa TE R | whan < 3 AR, I-09F R e & fore e, Argm, e, ¥ et wand/
IR e 1 M v g R |
Candidates have to answer questions from the multiple choice of answers 1, 2, 3 and 4. Select the right answer of
each question and darken the correct circle on the OMR answer sheet. Once darkened changes are not permitted.
Use of eraser, nail, blade, white fluid/ whitener etc., to smudge, scratch, damage in any manner on the OMR
answer sheet during examination is strictly prohibited.

8. snreff e EHT € T 1. TR, 3N, IW-TT i) el ) avem Reg for e Prier = dia 3 | 3ol i e e g avem
¥ 3% 2 A oot | 2l ot g snaff yfa R AmEFAR |
Candijates must hand over the OMR Answer Sheet \yithout separating the three copies to the invigilator at the end
of examination. Invigilator will hand over the Candidate's Copy after separating it. The Candidate can take away
the Candidate's copy of OMR Answer Sheet with him/her.

g. fah i STIEN ] SATTEA 3 FA T A 61 .00, . IN-Th 301 A 3 Iwh) e 7 ) e |
In case of any discrepancy In following the instructions, candidate’s OMR Answer Sheet will be tendered invalid
and will not be evaluated.

OMRo:Nl Bmwm?sl HI EET ﬁOF Registration Number Roll Number Q's::::ﬂ = —
1 = v ompted
A e (DEEEEUEEN0|[€(EEF e N I EREE e
Candidate must 6l all the entries s | QO OO O@ O O OB VO OO OO PO OO OG|| @ nglish (7)
Seminciied beiov, T2 pyls | @O B D DHO | DOCROOOOOOOD|| © [ortv @
Re ris(ru‘llon (TR e NOL) plojoolalot: ooy ot CﬂLD(BQ)(SQ @
Roll No. .fx§2876443457,()9 tios tclototeofotolol ’ 2 2 5 —
Series angaage - 11 Urdu, | (D()()()()()()()() U)U)U)Q) D ) DO e “®
x?:r‘i“_'e;{;s ;)ec;a?,b!lud;s/%).~Subjc-'(;l5. OIOIO0X  TOIIOIIOIO] | EOIGTOIO) Eﬁéﬁ L.g L%L.D g))% [ r—
swvadll A gefeia ared & AT OGO H) G OO OO0 VOOOO OO OO O wath
sfafeeal sifea & 1 3R FEOOOO@VOOOO| @OOOOOVO VOO © [Sience ®
fer et AT : 1554609910, | (DD DD D DO D DD DD DD @D DD DD D@ Social
FUIH : 652876443457 9‘%— %%)% U 88@(‘)88 88%.@@@@@@@ Opdies)
{as - B, 99 - 11 & 39,10 D100 9)(© ) 5 s
S v - o 3 /3 fae | D0OOOOOOO| ® Subjects
32 o ——
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-A)
" Question Answer I Answer Question | Answer Key || Question No [Answer Key| | Question [[Answer Key
Question No || Answer Key No Key Question No Key No No
Part - | Part - lll (Urdu)
1 1 a8 B1 76 21 1 06
2 47 I % 3 77 ! 122 F 07
3 48 1l 6. F 78 1 123 1 08 1
4 49 |1 64 g 79 g 124 1 309 r
5 2 50 K 65 1 BO 25 1 110
6 1 51 1 66 3 ; Eg 2 1 %
s 3 52 1 67 4 1 4 11
8 3 53 z g | 83 128 z 113 4
9 4 54 F N B4 p 29 p 4 .
0 1 55 70 4 B5 g 30 1 115 z
11 z 56 71 3 86 131 2 [ K
2 3 57 72 4 87 1 s 7 2
3 Z 58 : 73 3 88 133 118 1
14 3 5 k 74 2 89 z 134 4 19 4
15 4 60 . i} E 135 2 120 4
16 4 Part - Ill (English) Il 76 3 SR (Vats 136 3 121 1
Science)
17 E 61 2 rird 4 91 13F 4 22 e
18 z 62 1 78 4 138 p 23 4
19 3 53 4 79 4 3 4 139 24 E
20 1 64 4 8 94 b 4 25 4
21 3 65 1 1 9 3 141 26
%g 2 66 82 SES 1 2% : %;}
4 67 3 1 1
74 E 68 B84 ] 98 ; 44 29 :
25 4 69 2 8 2 99 2 145 2 [i]
26 1 70 4 4 00 4 146 1
27 3 £1 87 101 147 32 Y
28 3 72 < 88 4 02 3 148 4 33 k
29 3 73 I || 4 03 P 149 K 34 d
3 74 4 Ir 90 2 104 4 150 135 .
= Part - IV (2) (Social
Part - Il (Hindi) 75 4 Part - lll {Sanskrit) 1 105 3 Studies/Other Subjects) 136 4
31 4 6 p 61 z 06 4 91 4 ey
32 4 ¥l 1 62 p a7 4 92 L 38
2 4 ;c 4 63 g 08 z 93 3 139
3 1 g 3 5] 4 09 K 04 2 140 4
35 2 80 4 | 5 4 110 4 5 4 141 1
36 2 81 1 1 66 3 111 F 96 p 142 2
37 4 82 A 67 1 2 a7 4 143 4
38 3 83 o 68 4 I 113 o8 k 144 3
38 4 a4 2 69 I 114 99 2 145 Z
40 L 85 4 | 70 115 00 4 146 2
41 1 86 71 2 6 k 01 1 147 2
42 3 a7 72 117 4 02 4 148 E
43 1 88 4 73 z I 118 Z 03 4 149 3
44 4 89 2 | 74 4 ‘"7 118 4 104 1 150 i
45 90 31l 120 3 105
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020
Answer Key for Upper Primary Level (Second Session) (Set-B)

Question Question Answer Answer Question | Answer Key || Question No. | Answer Key| | Question ||Answer Key
Answer Key
No. No. Key Ke No. No. L
Part - | Urdu)
1 1 46 f 1 6 2 21 2 06 4
2 2 47 1 77 1 122 P 107 k
3 4 48 1 1] bi 1 23 1 08 1
4 1 49 79 p 24 k )9 4
5 4 0 2 z 25 2 0 K
5] 4 51 81 26 1 F
I 2 4 82 1 %é 4 2 3
B 2 3 3 4 y 1 . 3 L
5 54 4 [ 2 : 14 4
1 3 55 3 2 30 K 5 E
11 3 58 4 31 2 3
2 1 57 2 4 y 32 4 117 Z
13 1 58 133 p 8 1
4 4 50 4 134 g g 4
5 3 60 ¢ 135 K 20 2
16 3 Part - lll (English) 4 S el 136 1 121 3
17 1 61 : 1 137 22 Z
18 1 62 4 4 138 4 23 4
19 1 63 4 139 124
20 4 64 p 14 f 125
21 p 65 4 1 : 141 : 26 [
22 1 66 2 4 4 42 - 27
23 2 2 E 43 28
24 1 68 4 144 4 29
el 4 89 1 y 130 4
2 2 70 L 4 1 3 131 i
27 71 1 147 2 :
28 1 72 2 48 K g
29 3 73 3 1 149 34 4
30 74 2 2 150 135 1
. A " Part - IV (2) (Social Studies/Other
Part - Il (Hindi) 75 4 Part - Il (Sanskrit) 105 4 Subjects) 136 Z
31 76 3 61 1 0& 1 91 4 137 2
32 77 3 62 07 4 92 38 1
33 4 78 z 63 08 1 93 z 139
34 1 79 2 64 F 09 4 94 4 140
35 80 1 85 110 1 895 4 41 2
6 81 3 66 : 1 96 142 2
7i 82 1 67 k 12 a7 4 943 1
38 g 1 68 E | 3 z 98 2 144
39 L) 4 €89 114 4 98 1 145
40 85 4 70 115 1 100 2 148
jé a6 p 4' 71 1 8 4 101 1 4; 4
4 87 2 ] 117 02 14 4
43 88 4 73 £ Il 118 4 103 4 148 4
44 4 89 4 74 1 |1 19 104 3 150 4
45 4 ) ' 75 1 1120 105 3
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-C)

Question | Answer Question | Answer Question | Answer || Question No. | Answer Key Question No.| Answer Key | |Question No.| Answer Key
No. Key No. Key No. Key
Part -1 Part - lil {Urdu)
1 1 46 . 51 £ 7B 21 1 106
2 4 47 E 52 3 77 22 3 107
3 g 43 63 4 78 4 i 108 :
4 F 49 F 54 1 79 E 24 3 109 4
5 F, Al 4 3 F. BU k& 25 e i
5] 4 51 1 ﬁé 4 81 4 26 111
7 1 52 3 ¥ 2 ¥ 2 127 112 4
8 3 53 4 68 [ 83 = 128 4 113
9 4 54 3 69 84 4 129 2 4
a 8 5E 3 70 85 4 130 1 b
1 2 56 [ il 88 1 31 4 116
12 4 57 1 72 [ 87 2 132 p 117
3 4 58 1 73 88 p 33 3 118
4 E 58 4 74 E 89 4 34 F. 119
5 3 ;ﬁi E i3 1 Q‘E 4 35 1 20 p
16 2 art - Il (English 76 4 art - aths & Sclence 36 Z 21
T 2 51 2 77 1 91 2 37 4 22
8 4 52 4 78 92 4 38 : 123 4
g % y g 03 33 2 24 C
20 54 94 3 40 p 25
21 65 &1 . 95 4 41 1 126
22 4 G6 82 96 4 4 3 27
4 67 83 2 97 p 143 1 28
%ﬁ 68 [ 84 4 %g F 14 i ] 2‘3 4
R 4 g% g 4 145 2 3
26 70 3 - 00 2 46 4 31
27 4 1 87 0 4 47 32 L
2 1 72 88 02 3 48 33 4
2 I} 73 89 103 4 45 34 4
3 74 104 3 5 z 35 2
Part - Il (Hindi) 75 4 Part - lll (Sanskrit) 105 4 RAITFIV (2)(Sock) 136 2
a1 2 76 61 1 08 3 91 3 a7 E
32 4 77 62 4 07 4 02 1 38
33 78 63 1 08 3 93 3 33
34 79 54 2 4 a4 £ 40
35 80 55 . 0 : 95 141
36 81 4 56 4 111 4 95 147
37 B2 B7 4 112 1 07 [ 43 F
38 B3 p 68 1 113 4 08 1 144 R
39 4 B4 g 1 4 eE] 145 4
40 85 70 4 115 00 4 46 :
41 86 71 1 i 01 z 47 4
42 4 87 72 4 7 3 02 4 48 1
43 4 88 73 4 & 03 z 49 P
44 4 829 4 74 1 g 4 04 50 g
45 1 90 i1 4 2 D
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Upper Primary Level (Second Session) (Set-D)
Question | Answer Question | Answer Question | Answer || Question No. | Answer Key Question No.| Answer Key | |Question No.| Answer Key
No. Key No. Key No. Key
Part - 1 -
; 1 46 4 g.r{t_ ; ;g k 121 g‘§
E 47 . 62 g 2%
3 2 48 K 63 7 ¥ 2 §4 z Og
- : 49 64 z 7 :
5 p 50 4 80 ¥ 125 4 10 v
[¢ 4 51 3 81 4 26 4 111 5
7 3 52 4 57 - 82 1 127 2 12 4
8 4 53 4 68 =45 28 113 2
9 54 : [ 4 B4 k 29 2 114 K
0 F 55 70 85 z 13 4 5 4
i 1 56 1 7 86 r 121 1 16 1
2 57 1 T £ 87 3 32 1
13 58 p 7 4 g 4 133 18
4 59 3 74 89 4 34 19
5 4 ] 1 75 a0 3 135 20
16 1 art - Il (English 76 3 Part - IV (1) (Maths & Science) 25 4 21 4
17 51 77 y 91 37 122 4
8 52 78 ﬁ% 38 C 12
19 : 53 z 18 9 ki 4 24
éo B4 4 80 34 140 ; gt
1 2 65 &1 3 5 41 3 F:
%"‘ 5] 2 96 42 2 2;} 4
3 4 67 E 83 2 a7 3 43 4 2 3
24 68 B4 2 o8 4 44 4 129 k
25 69 2 85 4 99 45 1 30 /
26 70 2 a8 00 148 4 il 1
27 4 71 a7 01 47 4 32 :
28 2 2 48 E: 33 F:
29 73 89 4 1 Z 49 1 34 2
30 2 74 2 a0 4 104 3 50 4 38 2
) Part - IV (2) (Social
Part - Il (Hindi) 75 3 Part - il {(Sanskrit) 108 3 Studies/Other Subjects) 136 4
31 4 76 K] [ 4 106 3 137 4
32 3 i d 4 62 F 07 4 92 4 138 1
33 78 1 63 3 08 3 93 : 3 2
34 79 4 64 E 09 E 94 z 40 :
35 4 80 F. B5 3 0 2 5 2 41 P
38 81 4 66 4 1 Z 95 k 42 3
a7 K 82 67 112 2 97 4 143 4
38 1 B3 88 4 5 4 985 4
39 2 84 69 4 3 99 45 =
40 85 g 70 5 G 100 25 3
41 F 86 T 4 116 3 01 147 F
42 g 87 72 4 117 102 78
43 . 88 73 03 149 K
a4 1 B9 74 104 2 15 4
45 4 90 75 20 105 3
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